ooooonoooon 20 DDDD]DDDDDDDDDDDDD
g0o0ob0O0o0o0oooooooooooooooboooooooooooooooooooooooooon

1. 000000 fO0000 ImfO KerfOOOOOOOODOOO

T
3
(1) F:R3 SR, oy | [ TPT 72T
2x1 + 3x2 + 43

T3

Ty
(2) f:R” >R, e (222 4 - F 0wy

Tn

2. r000000000000000000R(z 00000 D:f(x)»—)f’(a:),]:f(x)H/ f(H)dt0D0000000
0oo ‘

(1) KeeDO Ker/OOOOO

(2) DoI0O0 IoDOODOODO

1. | Imf, 00 Kerf, OO

-5
o (662 {[(3) )

1

- 3 - 2. (1) KerD =< 1 >, Ker = {0} (2) DoI0000DO

1 0 0 IoD(f(x)) = f(z) — f(a)
2) | <1>1 < o1 1],....[ © >7n_1

o/ \ o 1




